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Notes: Exam consists of 9 pages, Solve all questions

Question No. 1: Indicate whether the sentence or statement is true or false (40 marks)

Solve only 40 statements out of 42
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The two commonly used structural materials are concrete & steel.

Concrete & steel sometimes complement one another.

The quality of concrete depends only on cement quality.

Concrete is made with several types of cement and may contain pozzolan & admixtures.
Concrete as a final product (after it hardened) can’t be considered as rock with high
compressive strength.

Fresh concrete has the ability to take the form of any desired shape.

Cement Paste = Cement + Water+ small aggregate

Concrete = Mortar + Coarse aggregate

The concrete’s manufacturing stages are two.

Coarse aggregate means sand+ cement while fine aggregate means sand only.
Concrete can’t be mixed manually. ‘

The start of Fresh concrete phase is by the initial set‘ttinétfme.

The hardened concrete ended by the final setting time.

Consistency refers to the degree of wetness, it refers to Relagtive Fluidity means the percentage:
between water quantity and the dry material volume, so it can’t be dry.

Slump test can be used to measure fresh concrete properties.

Size of aggregate is one of the Factors that affecting on workability

Compacting factor test can be used to determine Concrete workability

Concrete consists of = (Cement + Water) 64% + Aggregate 35% + Air voids 1%

When increasing water cement ratio, it has great positive impact on concrete’s compressive
strength

Compressive strength of concrete is one of the green concrete properties

The quality control of steel structures is more guaranteced than concrete structures.
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22. Mechanical Concrete mixing is done only in ready mix plants.
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42.

High compressive strength concrete cannot reach 1000 kg/cm?

The chemical reaction in concrete is done mainly by ceament past

Consistency is one of the main properties for hardened conerete

In cement, the sum of C3S + C3A = 75% ;

Using clean aggregate is not an important factor while r;uixfng concrete,

Concrete strength usually gives an overall picture of the quality of concrete because it is

directly related to the structure of cement paste.

If Cement / Aggregate ratio is 1:4 so it is rich concrete mix while if the ratio reached 1:8 the mix

become so poor
C3A causes many problems in cement, and it can be eliminated

In traditional concrete, the failure occurred in the cement paste

The factor that increases permeability of concrete is mainly the aggregate not the cement past
Both of steel reinforcement and effective curing have goad impact on decreasing shrinkage
Plastic shrinkage occurs after 24 hours of concrete casting

Water cement ratio & weather has no impact on plastie shrinkage while it effects autogenous

shrinkage.

Creep is defined as the decrease in strain under a sustained constant stress af—fer considering
other time-dependent deformations.

Effective curing can reduce negative impacts of Shrinkage

The internal factors are only the factors that affect concrete’s durability

Concrete is considered as a permeable material by nature.

Both of slump test & Schmidt hammer are non-destructive testing of concrete.

Modulus of Rupture equal 12-20 % of tensile strength.

Around 75% of concrete shrinkage occurred during the first year of concrete age.
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Question No. 2: Multiple Choice, choose the appropriate answer "Just write in the answer paper the
question’s no. and the letter of the answer A, B, C, D or E (60 mark)
Solve only 30 out of 34

A

1. Concrete mainly consists of \
A. cement )

. aggregates

. admixture

. water

. all the above.

m O O W

2. The components’ percentages in concrete (in normal case) aye:
A. Aggregate (Small + Large) = 65 %] + [Cement past = 34 %) {h[Air voids = 1.0 %]
B. Aggregate (Small + Large) = 30 %] + [Cement past = 65 %] + [Air voids =5 %)
C. Aggregate (Small + Large) = 40 %] + [Cement past = 40 %j + [Air voids = 20 %]
D. Aggregate (Small + Large) = 80 %] + [Cement past = 15 %] + [Air voids = 5 %]
E. None of these.

3. Aggregate means:
A. Cement + Gravel + Coarse Aggregate
B. Cement + water + air voids
C. Fine Aggregate + Gravel + Coarse Aggregate
D. Fine aggregate + Coarse aggregate
E. None of these.

4. Mortar is:
A. Cement + Gravel
B. Cement + water + Gravel
C. Fine Aggregate + Gravel + water
D. Cement paste + Sand
E. None of these.

5. W/Cis:
A. Water cement ratio
B. (Water + Cement) /Aggregate
C. Aggregate / (Water + Cement)
D. (Water + Cement) /Fine aggregate
E. None of these.
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Concrete compressive strength for normal buildings may be;
A. 250 Kg/cm?

B. 150 Kg/cm?

C. 650 Kg/cm?

D. 50 Kg/cm?

E. None of these.

Concrete’s manufacturing stages are:

A. Preparation phase + Fresh Concrete + Green Concrete

B. Preparation phase + Fresh Concrete

C. Preparation phase + Green Concrete

D. Preparation phase + Hardened Concrete + Green Congrete
E. None of these ‘

Since adding water, the Concrete passes with the following main phases:

A. Fresh Concrete + Green Concrete

B. Hardened Concrete + Fresh Concrete

C. Preparation phase + Green Concrete

D. Fresh Concrete + Green Concrete + Hardened Concrete
E. None of these

The main properties for fresh concrete:
A. Consistency

B. Segregation

C. Workability

D. Bleeding

E. All the above

Factors that affecting consistency:
A. Materials & cement fineness

B. Weather

C. Aggregate size

D. Admixtures

E. All the above

Slump shape may be:
A. Flow

B. Shear

C. True

D. All the above

E. None of these

41p
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12.

13,

14.

15.

16.

Test can be used in the determination of Concrete workability:
A. Remolding test

B. Core test

C. Setting time — Vicat test

D. All the above

E. None of these

Concrete grade 350 Kg/cm? includes around ..... of cement;
A. 350 kg

B. 150 kg

C.350¢g

D. 3 bags

E. 450 kg

Shrinkage in concrete can be reduced by using
A. Shrinkage reinforcement

B. less cement in the concrete

C. proper concrete mix

D. presaturated aggregates

E. all the above.

Water required per 7 bags of cement, is
A. 175 liter

B. 100 liter

C. 350 liter

D.7 kg

E. 25 kg

Specified compressive strength of concrete is obtained from cube tests at the end of

A. 2 days
B. 8 days
C. 14 days
D. 28 hours
E. 28 days.
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Pick up the incorrect statement from the following:

A. Tricalcium silicate (C3S) hydrates rapidly

B. Tricalcium silicate (C3S) generates more heat of hydratien

C. Tricalcium silicate (CsS) develops early strength

D. Tricalcium silicate (CsS) has more resistance to sulphate attack
E. None of these.

The heat of hydration of cement is dependent on:
A. Composition of cement

B. Fineness of cement

C. Temperature

D. All of the above

E. None of these

Water cement ratio is

A. volume of water to that of cement
B. volume of concrete to that of water
. weight of concrete to that of water
D. weight of water to that of cement
E. both (a) and (d) of the above.

A

Pick up the correct statement from the following:

A. Water enables chemical reaction to take place with cement

B. Aggregate is not required for the hydration of cement '
C. Water is not required for hydration of cement

D. Strength of concrete structure doesn’t depend upon cement
E. Both (a) and (b) of the above.

.

Vicat's apparatus is used for
A. fineness test

B. consistency test

C. setting time test

D. soundness test

E. compressive strength test.




Assiut University og Date: 4/7/2021
Faculty of Science . ' Time Allowed: 2 hours
s :
Concrete Technology Final Exam - Total Grades: 100 grades

22. Internal friction between the ingredients of concrete, I8 déereaued by using
A. less water 4
B. fine aggregates 473
C. rich mix B
D. more water and coarse aggregates
E. none of these.

@

e it~ O

S e

23. High strength concrete may has grade = kg/cm?
A.200
B.225
C.2/75
D.350
E.700

24. Pick up the correct statement from the following: ]
A. Segregation is necessary for a workable concrete
B. Consistency does not affect the workability of concreg
C. If the slump increases, workability decreases !

D. If the concrete mix is dry, the slump is maximum
E. None of these.

25. Permissible compressive strength of M 300 concrete grade |s
A. 100 kg/cm?
B. 150 kg/cm?
C. 200 kg/cm?
D. 250 kg/cm?
E. 300 kg/cm?

26. The factor which affects workability, is
A. water content and its temperature
B. shape and size of the aggregates
C. grading and surface textures of the aggregates
D. air entraining agents
E. all the above.

7|Page
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28.

29,

30.

31.

The grade of concrete M 700 means that compressive str
A. 100 kg/cm? ¥
B. 600 kg/cm? “-
C. 550 kg/cm?

D. 700 kg/cm?

E. 600 kg

Pick up the correct statement from the following:

A. Anincrease in water content must be accompanied by an Increasc in cement content
B. Angular and rough aggregates reduce the workability of the concrete

C. Large size aggregates increase the workability due to lesser surface area

D. The slump of the concrete mix decreases due to an increase in temperature

E. All the above.

Higher workability of concrete is required if the structure Is
A. made with cement concrete

B. thick and reinforced

C. thin and heavily reinforced

D. thick and heavily reinforced.

E. None of these

Shrinkage:
A. Occurs in Concrete when it got hardened in air ‘
B. It causes problems in concrete in all causes é

C. Drying shrinkage is not affected by concrete mix components
D. All of the above
E. None of these

Creep:

A.is atime dependent

B. value decreased as compressive strength increased
C.is affected by cement type

D. All of the above

E. None of these

h of a 15 cm cube after 28 days, is

8| p
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32.

33.

34.

.

Durability:
A. is concrete resistance against deterioration

B. includes concrete resistance for absorption and permeability
C. is affected by cement type

D. All of the above é
E. None of these

Proper proportioning of concrete ensures
A. desired strength and workability.

B. desired durability

C. resistance to water

D. all the above.

E. none of these

Pick up the incorrect statement from the following:

A. Water cement paste hardens due to hydration

B. During hardening cement binds the aggregates together

C. Cement provides strength, durability and water tighthess to the concrete
D. Water cement ratio has no impact on concrete compressive strength

E. All the above.

With my best wishes

9| Page
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A- Select the best answer for each multiple choice questions:

1- Which of the following element excess are harmful to the human body and cause kidney diseases
a-As & Cd b- Na & K c- Mg & Fe d- Ca & K

2- Hypertension is a dangerous disease which affects the cardiovascular system may result from excess

concentration of:
a- Al & Hg b-Cu & Fe c- Mg &K d-Cu & Mg
3- Hydrogen are classified as:
a- Atmophile element  b- lithophile element c¢- chalcophile element d- sidrophile element
4- Oxygen are classified as :
a- Atmophile element  B- lithophile element ¢ chalcophile D- sidrophile element.
5- Gold are classified as:
a- Sidrophile element  b- lithophile element ¢- Chalcophile element d- Atmophile element
b- Carbon in the human body are classified as :
a- Major element b- Minor element c¢- trace element  d- none of them
7-Silicon in the human body are classified as:
a- Majorelement  b- Trace element  c- Minor element d- none of them
8- Concentration of oxygen in the human body is more than.......
a- 60% b-1% c-2% d-0.5%
8- which of‘ the following elements consider major element in the human body?
A- Oxygen b- Calcium ¢c- Magnesium d- Potassium
10- Which of the following elements is minor element in the human body?

a- Oxygen b- Hydrogen ¢- Nitrogen d-Chromium

10- Which of the following is a trace element of human body ?

a- Carbon b- Hydrogen c-Nitrogen d- Calcium



11- Which of the following is not a major element in the human body.

a- Carbon b- oxygen c- Nitrogen

12- Concentration of oxygen in the human body is..

a-20% b- 30% c- 40%

D- Hydrogen

d- more than 60%

13- Carbon concentration in the human body is ......

a- 10% b- 5% c- 15%
14- Chromium concentration in the human hody is

a- Major b- minor c-15%

15- Arsenic concentration in the human body is ...

d- more than 15%

d- more than 15%

a- Major element b- minor element c- trace element  d- none

16- Zn concentration in the human body is..........

a- Major b- Minor - trace

17- Sodium concentration in the human body is ...

a- Minor b- Major c- trace

18- Concentration of Oxygen in the human body is.
a- 20% b-5% c- 15% d-

13- Carbon concentration in the human body is.......

a- 10% b- 5% c-15%

d- none

d- none

more than 60%

d- more than 15%

20- Chromium concentration in the human body is .........

a- Major b- minor c- 15%
21- Arsenic concentration in the human body is......

a- Majorelement b- minor element

22- Zinc concentration in the human body is ...

a- Major  b- Minor ¢- Trace

23- Sodium concentration in the human body is ...

a- Minor b- major c- trace

more than 15%

c- trace element d- zero

d- zero

d- zero



24- Chromium concentration in the human body is ............

a- Major b- Minor ¢- Trace d- Zero
25- The rate of cooling of a magma or lava is reflected by the ....... Of the rock
a- Mineralogy b- texture c- color d- density

26- The last mineral to crystallize from a magma is :
a- Plagioclase b- olivine ¢- Quartz d- pyroxene
27- The fine grained equivalent of granite is ..........
a- Rhyolite b- gabbro c- andesite d- basalt
28- The oceanic crust is most like
a- Granite b- rhyolite c- basalt d- gabbro

29- What type of volcanic rocks contains a large number of cavities that form when gases escape from the

molten rock?
a- granite b- obsidian c- pumice d- basalt
30- What is the appropriate silica content of a granite?
a- 20% b-50% c- 70% d- 100%
31- Which of the following is not an extrusive igneous rock?
a- Basalt b- andesite c- obsidian d- granite
32- Which of the following pairs of intrusive and extrusive rocks have the same chemical compositions.?
a- Granite and andesite b- diorite and basalt c- gabbro and basalt c- gabbro and rhyoli'te
33- Most igneous rocks contains ........... silicon dioxide by weight ?
a- Lesé than 40 % b- between 40 & 70 % c¢- between 70& 90% d- greater than 90 %
34- At about what temperature do olivine and Ca- rich plagiociase crystallize from a magma ?
a- 500degree b- 1000 degree ¢- 1500 degree d- 2000 degree
35- During crystallization of a melt plagioclase become richer in ...........
a- Potassium b- Sodium ¢- Calcium d- Krypton
36- Which of the following pairs of intrusive and extrusive rocks have the same chemical compositions?

a- Granite & andesite  b- diorite & basalt  ¢- gabbro & basalt  d- gabbro & rhyolite



37- Most igneous rocks contains ............ 5i0, by weight ?

a- lessthand40%  b- between 40 & 70% ¢- between 70 & 90 d- greater than 90 %
38- Which of the following minerals is the most abundant mineral in ultramafic rocks ?

a- Amphibole b- Clivine ¢- Quartz d- Sodium plagioclase
39- What is the appropriate silica content of a granite ?

a- 20% b-50% c-70% d- 100 %

40- Which of the following is Not an extrusive igneous rocks ?
a- Basalt b- Andesite c- Obsidian d- Granite
41- Which of the following minerals crystalliza first from a basaltic magma ?
a- Quartz b- Biotite c- Pyroxene d- fron
42- As a magrna changes from mafic to felsic, which of the following elements decrease ?
a- Sodium b- fron c- Magnesium d- All of the above
43- Compared to felsic magma, mafic magma are relatively are relatively enriched in :
a-  Calcium b- {ron ¢- Silicon b- lron
44- A glassy texture indicates:
a- Veryrapid cooling b- Slow cooling ¢ Slow followed by rapid cooiiné d- none of the above
45- What do you cail moften rock under the earth ,s crust?
a- Melted rocks b- magmas c- pumice d- lava
46- What is the molten rock called after it break through an opening in the earth, s crust ?
a- Magma b- melted rock C- pumice d- iava
47- What do you call melten rock under the earth,s crust ?
a- Melted rock b- magma ¢-lava d- pumice
48- What drives tectonic motion plate movement ?
a- Gravity h- coriolis effect ¢- convection currents  d- the earth,s magnetic core
45- Once magma reaches earth,s surface, it is called :

a- Volcano b- water c- lava d- eartheaqukes



50- A volcano that stops erupting is called a dead or ..............

a- Active volcano b- extinict volcano c-red volcano  d- dormant volcano

ORAL , ACTIVITY & MID - TERM

A- Select the best answer for each multiple choice questions :

1- Which of the following is a type of volcano?
a- Cinder cone voicano  b- shield volcano  ¢- composite volcano  d- all the above
2- The layer that separates crust from core is the ?
a- Magma chamber b-lithosphere  ¢- mantle d-continent
3- What drives the earth’s internal heat engine ?
a- Radioactivity b- solar energy  c-volcanoes  d-Ocean tides
4- The name of tﬁe layer of the earth that separates the crust from the core is the ............
a- Magma b- lithosphere ¢- asthenosphere d- mantie
5- What powers the earth, s internal heat engine ?
a- Radioactivity b- solar energy  c- volicanoes d- ocean tides

- The area below the crust where magma is stored............

o

a- Magma dome b- magma chamber  ¢- magma crater d- magma vent

~J4

- A scientist who studies volcanoes is called a .........
a- Volcanologist b- Vuicans c- geologist d- seismologist
8- The release of gas, lava and ash from a volCano iS coov oo e
a- Epidermis b- evacuation c- eruption d- epicenter
9- The particles produced in volcanic eruptions are called ......c..c..ococvcennee, s
a- lacolith b- pyrociastic material  c- calderas d- volcanic stocks
10- Geochemical classification of elements indicates that lithium is classified as.........

a- Lithophile element b- Atmophile efement
b-  Chalcophile element d- Siderophile element



B- Sign with wright or wrong on the foliowing :

1- Cobalt is classified as siderophile element.

2- Lithium is ciassified as Lithophiie element.

3- Molecular formula of Chalcopyrite is CuFeS;

4- Molecular formula of pyrite is FeS,

5- Oxygen in the human body is greater than in the earth,s crust
6- Silicon in the earth,s crust is greater than in the human body.
7- lron in the earth,s crust is greater than in the human body.

8- Calcium in the earth,s crust is greater than in the human body.
9- Magnesium in the earth, crust is greater than in the human body.
10- Hydrogen is considered atmophile element.

11- Arsenic is considered chalcophile element.

12-iron is considered sidrophile element.

13- The geochemical association of Mg-Fe-Cr-Ni-Co is characteristic for ultrmafic rocks.

14- Carbon in the human body is a major element.

15- Calcium in the human body is a minor element.

16- Cobalt in the human is a trace element.

17- Hydrogen in the human body is a major element.

18-The earth,s crust is thinner than the mantle.

19- The outer core of the earth is liquid.

20- Intrusive igneous rocks result from crystallization of magma inside the earth.
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Select the correct answer (50 Marks)
1- The earth's crustal plates move

a- a few meters per year b- a few millimeters per 1000 years

¢c- a few centimeters per year d- a few millimeters a day

2- The composition of continental crust is

a- granitic composition b- basaltic composition

¢~ diorite composition. d- andesitic composition

3- The average thickness of oceanic crust is

a- 5 km b-7 km ¢~ 35km d-100 km
4- The average density of the earth core is

a- 11 g/cm3 b- 10 g/cm3 c-9 g/cm3 d- 8 g/em’
5. What type of plate boundary has the two plates moving away from each other?

a- Divergent plate boundaries b- Convergent plate boundaries

¢- Transform-fault plate boundaries d- All of them

6- Wegener's evidence of continental drift is

a- matching of animal and plant fossils b- fit of continental coastlines

¢- identica! rock types of same age d- all of them

7- Volcanoes are least likely to be associated with

a- subduction zones b- hot spots

¢- mid-ocean ridges ¢- All of them.

8- Along what type of plate boundary does subduction occur?

a- divergent b- transform ¢c- convergent d- All of them

9. Clastic sedimentary rocks such as conglomerates, sandstones and shales are classified based
on:

a- color b- density c- grain size d- All of them
10- Which of the following is a foliated metamorphic rock?

a- hornfels b- marble ¢- quartzite d- slate
L[5 £ —— is agent of thermal metamorphism '

a- Pressure - b- Temperature ¢- Hydrothermal solution d- All of them
12- Glass materials have

a- atoms randomly arranged b- crystalline

¢- Covalently bonded d- all of the above

13- i has a seapy feel.

a- Talc b- Quartz ¢~ Pyrite d- Calcite
14- Which of the following pairs of igneous rocks has the same mineral composition?

a- granite- rhyolite b- granite- andesite

¢c- granite- basalt d- granite-gabbro

15- A sedimentary rock made of CaCO3 composition is called

a- coal b- quartzite c- limestone d- conglomerate
16- Sandstone is a sedimentary rock composed mostly of

a- calcite b- quartz ¢- chlorite d- mix of all
i —— crystal systemhasa=b=c,a=f=y= 920°

a-cubic b- tetragonal ¢-Orthorhombic d- monoclinic



184 sosmmninvasns crystal system hasa#b#c,a#p#y=90°

a- cubic b- tetragonal ¢- Orthorhombic d- triclinic
19- sovis i swsmnes crystal sysiem has al = al=al #c,a=f=y= 120°

a- cubic b- tetragonal ¢- Orthorhombic d- trigonal
20- The luster of quartz mineral is

a- glassy b- pearly c- earthy d- silky
21- On Mohs harduess scale, calcite hardness number is

a-3 b- 4 c-5 d-2
22- The luster of Galena mineral is

a- glassy b- pearly c- earthy d- metallic luster
23- The mineral composition of gabbro is

a- plagioclase and pyroxene b- plagioclase and mica

c- plagioclase and biotite d- plagioclase and muscovite

24- The mineral composition of gypsum is

a- CaCO; b- CaSQy c-Si0; d- CaSOq
25- On Mohs hardness scale, talc hardness number is

a-3 b-4 c-1 d-2

26- Running water, groundwater, glaciers and wind are....
a- Primary geomorphic agents only b- Weathering agents only
c- Erosion agents only c- all of them
27- In Chemical weathering
a. Rocks are physically broken into smaller pieces
b. Rock’s chemical makeup stays the same without changing the minerals in the rock.
c. Different minerals expand and contract at different rates
d. Minerals in the rock change
28-Weathering is
a. The process by which soil and weathered rock particles are transported, or moved from one
place to another.
b. A collective name for a group of processes responsible for the disintegration and
decomposition of rock in place.
¢. The accumulation of sediments in new surroundings.
d. None of them
29-The Causes of Physical weathering are
a. Extreme Temperatures, Ice Wedging, Abrasion and Ice Wedging
b. Extreme Temperatures, Ice Wedging, Abrasion and dissolution
¢. Extreme Temperatures, Ice Wedging, Abrasion and hydrolysis
d. Extreme Temperatures, Ice Wedging, Abrasion and hydration
30-The Exfoliation of granite results due to
a. Ice Wedging
b. b. Different minerals expand and contract at different rates
¢. Grinding & wearing down of rock by other rock particles carried by the wind or water
d. Water freezing in the cracks of rocks.
31-The Causes of chemical weathering are
a. Acid rain, oxidation and dissolution
b. Acid rain, oxidation and ice wedging
c. Acid rain, oxidation and slump
d. None of them
32-The formation of stalactites and stalagmites are due to
a. The dissolution process b. The hydration process
¢. The oxidation process d. All of them
33-The hydrolysis process in chemical weathering is responsible for
a. The conversion of feldspars to clay



b. The conversion of hematite to clay
¢. The conversion of gypsum to clay
d. All of them
34-In the hydration process of chemical weathering
a. Feldspars are converted to clay ’
b. Anhydrite is converted to gypsum
¢. Hematite is converted to magnetite
d. Gypsum is converted to anhydrite

35 i are the features of rocks that are present before the onset of deformation.
a. Primary structures b. Secondary structures ¢. Unconformities d. Faults
J0- tiiriiininiiieineen are faults that result from horizontal compressional stresses in brittle

rocks, where the hanging wall block has moved up relative to the footwall block and the fault
plain dipping more than 15°

a. Normal faults b. Reverse faults ¢. Strike-Slip faults d. Thrust fauits

37- Most folds result from ......ooeveneviien stresses which shorten and thicken the crust.

a. tensional b. compressional c. shear d. compressional and shear

38- s s ememinm o ve are upwarped circular structure where oldest rocks in center and younger
rocks outside.

a. Domes b. Basins ¢. Monoclines d. Anticlines

39- In the figure, a surface that separates older series from vounger sedimentarv rocks is
called ...... . rliilgﬁ‘fl"lllh!-,.i“i““,.‘t""" ek

a. angular unconformity
b. disconformity
¢. nonconformity
d. uniformity
40- A crack along which no appreciable movement has occurred is called:
a- fault b- anticline c-joint d- vein
41- This feature (seen in cross-section) is:
a. an anticline
b. a graben
¢. a monocline
d. a sycline
42- From primary structures are
a. rocks bent by crustal deformation into a series of wave-like undulations.
b. fractures in rocks with no movement produced by brittle strain.
¢. agroup of wave-like depositional structures that may form directly in water or in air.
d. fractures in rocks with movement produced by brittle strain.
43- During the young stage of a stream
a. It generally flows in a V-shaped valley in a highland or mountainous area.
b. Tt slows down and begins to meander
¢. Its velocity is low, it has lost its ability to erode downward.
d. It is marked by floodplain deposits.
44- A stream in its mature stage has a
a. steep gradient and high velocity
b. moderate gradient and velocity
c. low gradient and velocity
d.None of them
45- Meandering channel takes its name due to series of
a- S-shaped bends  b- U-shaped bends  ¢- Y-shaped bends d. X-shaped bends
46- When a river meets an ocean or sea, which depositional feature is often formed?
a-Alluvial fan b-Delta c-Terraces d.Oxbow
47- Floods occur when discharge exceeds channel capacity. It refers to .....




a-Menders b-Point bars c-Floodplains d.All of them

48- Conditions promote fossilization are ...............ccoevvuune
a- hard body parts b- rapid burial c-botha &b d. None of them
495 sssemseminsaaey are from trace fossils.

a. Shelis b. Tracks c. Teeth d. All of them
S0- Smooth stones from abdominal cavity of dinosaurs indicate .....................
a- Coprolites b- Mummification c- Gastroliths d. molds

Mid-term, Class works and Oral (30 Marks)

51- The average thickness of continental crust is

a- 5 km b-7 km c-35km d- 100 km
52- The type of plate boundary has Earthquakes

a- subduction b- spreading center

c- transform fault d- all of the above

33- The average density of mantle is

a- 3.5 g/em3 b- 3.1 g/em3 c- 3.3 g/em3 d- 3.6 g/cm3
54- The man who is credited with developing the continental drift hypothesis is?

a- Wilson b- Wegener c- Hess d- Anderson
-1 — is a type of sedimentary rocks.

a- clastic rocks b- organic rocks c- chemical rocks d- all of them
565 sumissimmananing is an extrusive igneous rock.

a- gabbro b- rhyolite c- granite d- peridotite
57- Mafic rocks contain about ---e-x % silica,

a- 20 b-50 c-80 d- 100
58- The ability of a mineral to break along a preferred direction is called

a- fracture b- hardness c- crystal form d- cleavage
53 S crystal systembasa=b#c,a=p=y=90° B

a- cubic b- tetragonal c- orthorhombic | d- triclinic
| CTR———, crystal system has al = al=al #¢c,a = =y =120°

a- cubic b- tetragonal ¢- Orthorhombic d- hexagonal
61-On Mohs hardness scale, quartz hardness number is

a-3 b- 4 c-5 d-7
62- The mineral composition of basalt is

a- plagioclase and pyroxene b- plagioclase and mica

c-~ plagioclase and biotite d- plagioclase and muscovite

63- The mineral composition of diorite is

a- plagioclase and pyroxene b- plagioclase and mica

c- plagioclase and hornblende d- plagioclase and muscovite

04 oo sinenimensrenvess is a chemical sedimentary rock.

a- sandstone b- conglomerate c- shale d- gypsum
65- Shale is changed during metamorphism into

a- slate b- quartzite ¢c- marble d- all of them

66-Which one of the following statements is FALSE?
a. Desert surface is dominated by mechanical weathering processes
b. Deserts are dominated by rock falls and rock slides
¢. Deserts cover about 1/5th of the land. About 10% of that is sand dune
d. Desert surface is dominated by chemical weathering processes
67-Desert pavement is formed by
a. Wind deflation b. Wind deposition  ¢. Wind transportation d. all of them




known as:

a. star dune

b. parabolic

¢. barchan dune
d. alluvial Fans

68- This figure illustrates a geologic feature

Wind
direction.

Gentie windward slope

Sl

69- The result of wave erosion is the formation of
a, deltas b. sand beaches, c. alluvial fans

70- Deflation is the erosion process by
a. sea water b. gravity

¢. wind

d.none of them

d. all of them

71- A erack along which an appreciable movement has occurred is called:

a- fault b- anticline c-joint

d- vein

72 - A fault is observed where the hanging wall is displaced downward relative to the footwall.
b. this is a left-lateral strike-slip fault.
d. this is a normal fault.

a. this is a right-lateral strike-slip fault.
c. this is a reverse fault.

a- desert Pavement  b- mud cracks ¢-cave d-sand dune

76- Burrows or borings are ..... baea s iR

a- spaces dug out by living things and preserved as is or filled in.

b- impressions of passage of living things
¢- actual parts of an organism
d- all of them

R is a decreasing of grain size upward through the bed indicating
deposition from a2 waning current.
a. Graded bedding b. Strain c. Stress d. Mud cracks
74- Rocks are bent by erustal deformation into a series of wave-like undulations called
a. folds b. faults c.slumps d. joints
75- The feature shown in the figure is known as........oooveiiennns

77- Fossils that show geographically widespread and short span of time are known as

a- Body fossils b-Index fossils c-Trace fossils d. None of them

78- One of the importance of fossils to Geology is giving information about .............
a- paleogeography.  b- hydrology. ¢- volcanic rocks. d. all of them

79- Correlation of rock layers is by ...... g s e SRR 58

a- fossil organisms succeed each other in random patterns.
b- matching up rocks from different places that are similar in age.
¢- material trapped inside ice and tissue is preserved.

d- reproduction of the inside or outside surface
80- The geologic timescale was developed by

of a living thing.

a- relative dating b-absolute dating ¢~ correlation of rocks.

d. all of them

GOOD LUCK Al sl
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